
नाम: 　　　　　　　 िदनांक: 　　　　　　  ोर: 　　　

सं ाओं के  ितशत की गणना कर 

28 × 50% = ________ 93 × 50% = ________

41 × 90% = ________ 65 × 60% = ________

59 × 90% = ________ 60 × 40% = ________

23 × 10% = ________ 80 × 40% = ________

62 × 50% = ________ 71 × 80% = ________

25 × 90% = ________ 17 × 80% = ________

53 × 90% = ________ 70 × 10% = ________

6 × 40% = ________ 74 × 50% = ________

2 × 50% = ________ 95 × 30% = ________

5 × 40% = ________ 92 × 90% = ________
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नाम: 　　　　　　　 िदनांक: 　　　　　　  ोर: 　　　

सं ाओं के  ितशत की गणना कर 

28 × 50% = 14 93 × 50% = 46.5

41 × 90% = 36.9 65 × 60% = 39

59 × 90% = 53.1 60 × 40% = 24

23 × 10% = 2.3 80 × 40% = 32

62 × 50% = 31 71 × 80% = 56.8

25 × 90% = 22.5 17 × 80% = 13.6

53 × 90% = 47.7 70 × 10% = 7

6 × 40% = 2.4 74 × 50% = 37

2 × 50% = 1 95 × 30% = 28.5

5 × 40% = 2 92 × 90% = 82.8
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